ar@dia

AVELINA 2-PIECE TABLE CART DETACHMENT INSTRUCTIONS

IMPORTANT: Each component has a numbering sequence that must be followed for assembly. Note that
grain direction will match.

Tables are bolted to the wood cart and should be disassembled at the job site. A drill with a Phillips head and a
5/16" socket for a machine hex screw will be needed to remove brackets.

Step 1: Remove the profective wrap covering to access the L-brackets and angled bracket. Unscrew the /4-20
machine screws on the removable panels from the underside of the table (Figure A). Then gently pull the
removable panels on the bases away from the table until they are defached completely (Figure B).

Step 2: Gently pull the removable panels (held together with magnets) on the bases away from the table until they
are detached completely (Figure B).

FIGURE A

AN

X

FIGURE B

continued next page

5692 FRESCA DRIVE, LA PALMA, CA 90623 | 800.585.5957 | ARCADIACONTRACT.COM



ar@dia

Step 3: Using the drill, remove the Phillips head screws that are attached to the cart (Figure C). Then remove the
5/16" machine hex screws that are attached to the table (Figure D).

Step 4: Once the L-brackets and the angled bracket is removed, safely lift the table off the cart using at least four
people, and place it in the desired location (Figure E).

Step 5: Carefully remove the (4] screws from the bracket attached to the metal shipping leg, which are located
on the underside of the table (Figure F). Discard the metfal shipping leg appropriately.

FIGURE D

FIGURE C

FIGURE E FIGURE F

continued next page

5692 FRESCA DRIVE, LA PALMA, CA 90623 | 800.585.5957 | ARCADIACONTRACT.COM



ar@dia

Step 6: With af least four people, carefully attach the add-on table to the starter by aligning the bars and dowels

with the appropriate holes and nofches. Make sure to match the number sequences accordingly, e.g.
1:1 or 2:2 (Figure GJ.

Step 7: Once the table has been securely attached, install table joint connectors underneath the seam of the two
tables, which is located below the center base. The number of connectors will vary based on table size
(from 1 1o 3). Properly secure connectors to the table and level surfaces of each table (Figure H).

Step 8: After installing and leveling the table, re-attach the removable panels starting with the panel underneath
the table top. Secure though the middle using a 4-20 machine screw (Figure |). Attach base panels
(Figure J).

FIGURE G FIGURE H

table joint connectors
aty. 1-3 based on table size

FIGURE | FIGURE |

If you require additional assistance, please confact Arcadia Client Services at 800.585.5957.

5692 FRESCA DRIVE, LA PALMA, CA 90623 | 800.585.5957 | ARCADIACONTRACT.COM



